[image: image1.png]number of
atoms in
reactants

C=

H=

O=

number of
atoms in
products




[image: image2.emf] 

 

Nitrogen and  oxygen don’t react  in the air.  

But inside a car engine it is very  hot so  nitrogen and oxygen do react to make  nitrogen monoxide.  
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The nitrogen  monoxide reacts  with more oxygen  in the air to make  nitrogen dioxide.  
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NO 2  dissolves in  water  vapour  to  make acid rain.  
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Air Quality. (part 2)





Many fuels are hydrocarbons. What are hydrocarbons? (H21, F21).








Circle the hydrocarbons: CH4, C6H12O6, CO2, C8H18, C20H42.
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Finish this off. (H25, F25) 





Name the product which is needed for photosynthesis and is soaked up by oceans. (H26, F26)
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Why is NO a primary pollutant but NO2 and acid rain are secondary pollutants? (H28, F28)





Which is a cause, a coincidence, another factor causes both?


(H30, F30) 


There is a correlation between the number of students with hayfever symptoms and cold drinks sales in school. ___________________


Last year in the Year 11 mock exam, there was a correlation between age of students and the % they got. _________________________


There is a correlation between pollen count and number of cases of hayfever. ___________________
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The catalyst speeds up these reactions:


Carbon monoxide + oxygen ( _________________


Nitrogen monoxide ( ______________________ 


(H31, F31)
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Lime is calcium  _________ and it removes sulphur dioxide from waste gases from the power station. Calcium ________ is made.





(H31, F31)





What could you do to reduce air pollution? (H32, F32)








